I A A 0 &= AABC 2] ¢4t} /OAB = 10°, zOBC = 30°
A o, /OAC 9] A7]=2

@ 40° @ 45° @50° @ 55° ® 60°

B

/OAB = /OBA, /OBC = /OCB,
/OAC = /0OCA

£OAB + £OBC + tOCA =90°

.. /OAC =90°-40°=50°




2. T2 2F2AABC oA H 1+ aAABC 9] WAlo|tt, /C = 70° 4 o,
Lx+ Ly & 2715 Fotog)

A

@® 175° @ 185° @195° @ 205° ® 215°

/AB = /IAC = /a, /IBA = /IBC = /b 2} 51
AABC A 2za + 24b + 70° = 180°

oo la+ (b = 55°

ABCE A zx = £b +70°, AADC ©f| A

Ly = la+ T0°

SoLx+ Ly = (Lb+70°) + (La + 70°)

= /a+ /b + 140° = 55° + 140° = 195°




3.  HIYPAFHFABCD |4 /BAC = 70°, /BDC = 45° &4 ©f}, /OBC +
/OCB 9] 2719

A
[> </

@® 70° @65° ® 60° @ 50° ® 45°

LABO = 45° (A7}
/OBC + /0CB += AOBC 9|z}
.. Z/AOB = 65°




HoAIHSYE ABCD oA = A P, Q = 42
H BC, CD 9] &3 o|t}. mABCD 9] Y 9|
7t 64cm? & o, AAPQ 9] Ho]=?

@ 16cm? @ 20cm? 0240111

@ 28cm? ® 32cm?

~&B

AABP = Z—llleBCD = - X64 =16 (cm?)

AAQD = iDABCD = - x64 =16 (cm?)

X 64 = 8 (cm?)

oolr—A _;;“_\ »JklP—‘

APCQ = %DABCD =

AAPQ = 64 — (16 4 16 + 8) = 24 (cm?)




Folx O A oABCD = FAHZol1l, AD = AE, /ADE =80°

o, x 0] 27]=7

E
A £AaD
80°
Z
B C

@ 25° @ 30° @35° @ 40°

® 45°

~&B

AADE o]l A

(EAD = 180°-2x80°=20°
. /BAE =90°+20° =110°
ol W], AB=AD = AEC|E&

/x == (180°-110°) =35°

| —
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o= "ol Al 2AH2FY ABCD, GAEH, EBFH 7}

__-100cm- _

D
G \
\
\
E H 7/5 cm
//
B F C
@ 25cm (@)360m ® 50cm @ T5cm

=< ™, BF

® 90cm

~&B

AD:DC =GH:HE = EH : HF
AD:DC=100:75=4:3

EH = BF = ¢ 21 59
ﬁzga,ﬁzga

GH + HF = DC = 75(cm) °|2&
4 3 25

w

4 12
. BF = 36cm

—a+-a="75,—a="75,a=36(cm)




8. T 2dA x o] gh2?

® 6 @ 7 G)s
@9 ® 10

B *
IB= a5

BE:AB=BD:BC, /Bt 35 olE=

AABC & AEBD(SASE-2)

SSH7I2:10|B2 2:1=x:4

x=28




9.

o5 "M BFD & 27171 22 A2?

A

D E

B C
® /ADC @ /EBC ® /BAC
@ABDC ® /ABE

/BFD = /CFE = 180° — (./FEC + /FCE) = 180° — (/\DBC +
/DCB) = /BDC




10. o2 239 479 ABC oA AD & /A 9] o] 5EAo|1, AB :
AC =5:3olth A2k ACD ©] Wol7k 40em? & w, 472198 ABD

o golg Ta?

ofl

A
Ofo
B D C
2 50
@ 8cm @ 10cm ©) 5 cm
2
@ %sz ® %ch

BD:DC=5:39°E2 AABD : AADC=5:3

AABD :40=5:3

. AABD = 2—20(ch)




S
ol o

@ 3 ©) 38

AB:AC=BD:CD
6:4=(x+7):7

4x + 28 = 42
4x = 14
7

SoX = =

2
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13.

@ 2cm @ 3cm

~&B

®)}4cm

@ 5cm

® 6cm

gl oJsh
FD =2x,FD//EG

g 9] oof o5
x4+ 12
2
x4+ 12
X =

3
i

cm

AAFD 94 AE = EF, AG = GD ©]

AT

ABCE oA BF = FE , FD // EC ©|2& 4714




14. & T84 A G & AABC 9 BAZFAoth BC = 12cm €
AG 9] Zoj=?

A

® 6cm @ 8cm ® 9cm @12(:111 ® 1l4cm

BD =CD = GD = 6(cm)
AG = 2GD = 12(cm)




15. o I23o|A AD & AABC 2] F4lo]1,
AP = PQ = QD °|t}. AABC =30 & m,
APQC 9] Wol=?

o

@5 @ 7 ® 9 @ 11

AACD = %AABC =15,
AP=PQ=QD °|E&

1
APQC = %AACD = x15=>5




